NO. Diagram Parts description Intention
A 01 S SCREW #6-32%L6 M/B

02 S SCREW M2*L2.2 Slim_0DD

03 SCREW M3*L5 2.5” HDD

04 SCREW M4*L9 Monitor

05 SCREW #6-32#L4.5 | Handle box,

Handle Box:SW/USB/AUDIO/ Confroller
{Option)

Handle Box:SW/USB/AUDIO/ Controller
(Option}

3RAMEE014600
BROS6 i I



BQ Series cable Management Quick Reference

Internal Structure A B Power Switch Cable [l Power Supply Cable
B USB Cable & HD Audio Cable

| I st ; B ] 1 I ODD Cable .
nfterna rucrture “

IN WIN
CONTEMPORARY & INNOVATIVE

WWW.in-win.com Copyright © 2010 In Win Development Inc. All Rights Reserved.




	BQ-Manual
	BQ Series_Cable_Management_Quick_Reference



